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MOUNT CARMEL MISSION
MATRIC. HR. SEC. SCHOOL.

CLASS ' 10 CARMEL NAGAR,
& : 1@ N KALLAKURICHL 7 Y
SECOND REVISION EXAMINATION, MARCH - 2023
Time Allowed : 3.00 Hours) MATHEMATICS [Max. Marks : 100
' PART-A ‘
Answer all the questions. 14x1 =14
1. If there are 1024 relations from a set A {1,2,3,4 ,5} to a set B, then the number of elements in a Bis
"a.3 b.2- c.4 d. s
2. Ifg={(11),(23),(3,5),(4,7)} is a function given by g(x) = ax + g then the values of @ and g are
a.-1,2 b. 2,-1 c.-1,-2 d.1,2 .
3. The 20* term of the AP 3,8,13, . is : '
a. 95 b. 93 c.98 - d. 90
4. (13 +23+33+...... +153) — (1 + 2 + 3+..... +15)
a. 14400 b.14200 . c.14280 d. 14520
' Th ' t of 256xSy*z1° : .
5. e square root o SExtytat i
16 |x2z* . 16| ¥y : 16 |xz2
s yzl b16|xzz‘ C.?; : d'? )’I
. SolS, N_(5 7 ) y
6. Find the matrix X if 2X + (5 , 7)2— (9 5). X 2y
a (¢ 3 b.(3 %) 3¢ d.(5 2)_
7. -Ifin AABC DE||BC, AB=3.6 cm, AC =2.4 cm and AD = 2 1cm
a. 1.4 cm b. 1.8 cm i c.1.2cm d.1.05cm
.8. The perimeters of two similar triangle A4BCand 4APQRare 36 cm and 24 cm respectively. If PQ—10 cm
then the length of AB is , .
a. 6—cm b. ﬂ-cm ' c. 66—cm “d.15cm’
9. IfAI ls a point on the y-axis whose ordinate is 8 and B is a point of the x-axis whose abscissa is 5 then
the equation of the-line AB is :
a. 8x+5y =40 b..8x — 5y = 40 c.x=8 dy—S
10. When proving that a quadrilateral is a parallelogram by using slopes you must find
a. the slopes of two sides b. the slopes of two pair of opposite sides
c. the lengths of all sides d. both the lengths and slopes of two sides
11 (1+tanb + sec@)(1 + cotB — cose cG) is equal to -
a.c b. 1 c.2 d. -1
12. The total surface are of a cylinder whose radius is 1/3 of its helght is
onrh 2 ; 8rh? 56mh? g
a. sq units b. 24mh“sq.units C. ——sq. units d. 5 —Sg.units
13. For any set of numbers with n elements (£x) —x ="
a.nx b. (n - 2)x c.(n—1x d.o
14. If the standard deviation of x, y, z |s p then the standard deviation of 3x + 5,3y + 53x+5is
a.3p+5 b. 3p ' c.p+5 d.9p + 15
Y PART-B
_Answer any 10 questlons Questlon number 28 is compulsory. - 10x2=20
15. If X = {—5,1,3,4} and Y = {a, b, c} then which of the following relations are functions from x to y. (i)
R, = {(=5,a), (1, @), (3,)} (i) R; = {(=5,b),(1,b), (3,a), (4,)}
16. Find the value of k if f(x) = 3x +2,9(x) = 6x —ksuchthatfog = gof
17. Prove that two consecutive positive integers or always co-primes.
18. If3 + k,18 — k,5k + 1 are in AP then find k. ) .
19. Find the LCM . of the polynomials x* — 27a3x (x— 3a)2 whose GCD is (x — 3a)
V7 -3 .
20. IfA={—y5 2 ;thenfind the transpose of =A.
3 =5 ‘
21. If radii of two concentric circles 4 cm and 5 cm, then fi nd the length of the chord of one circle Wthh is
a tangent to the other circle.
~ 22. The line through the points (-2, a) and (9,3) has slope —=. Flnd the value of a.
cot?g
23. Prove that 1 + Ttcosecs — cosecl
24,

From the top of a rock 50v/3m high, the angle of depressnon of a car on the ground is observed to be
30°. Find the distance of the car from the rock
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26.

27.
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The volume of two cones of same base radius are 3600 cm® and 5040 cm?. Find the ratio of heights. '
The standard deviation and mean of a data‘are 6.5 and 12. 5 respectlvely Find the coefficient of -
variation. ' - ‘

The probability that a person will get an electrification contract ls = and the probability of getting

plumping contract i |s = The probabmty of gettmg at least one contract |s =. What is the probability that
he will get both?

28. Find the value of p if 4x% — (p — Z)x + 1 = 0 has real and equal roots. : B
* ‘ PART-C ' ) - _

Answer any 10 questions. Question number 42 is compulsory. e 10 x5 =750

29. LetA={xeW/x<2};B={x€N/1<x<4}andC = {3,5} then verify that A x(BUC') =(AXB)U

30.
31.
32.

33,

34.

35.
36.

37.

38.

39.

(Ax0C).
Let be a function defined by f(x) ==-1, where A ={2,4,6,10, 12} B =1{0,1,24, 5 ,9}. Represent the
function by (i) set of ordered pairs (ii) table (iii) an arrow diagram (iv) a graph.

‘Rekha has 15 square colourpapers of sizes 10cm,11cm,12cm,......,24cm How much area can be

decorated with these colour papers? - \
The sum of thrice the first number, second number and twice the third number is 5. If thrice the second

“number is subtracted from the sum of first and thrice the third we get 2. If the third number is subtracted

from the sum of twice' the first, thrice the second we get 1. Find the numbers
Find the value of m and n if following polynomial is a perfect square x* — 8x + mx? + nx + 16.

IfA= (‘: b) andI = ((1) 0) show that A2 — (a + d)A = (bc — ad)Iz.

State and prove Angle Bisector Theorem. i

Without using Pythagoras theorem, show that the pomts (1,-4),(2,-3) and (4,-7) from a right angled
triangle.

A man is standmg on a deck of a ship, which 40m above the sea level. He observes the angle of
elevation of the top of a hill as 60° and angle of depression of the base of the hill as 30°. Calculate
the distance of the hill from the ship and height of the hill. (V3 = 1.732)

If the radii of the circular ends of a frustum which is 45 cm high are 28 cm and 7 cm. F|nd the volume
of frustum.

The ratio of the radii of two right circular cones of same helght is 1:3. Find the ratio of their curved

- surface area when the height of each cone is 3 times the radius of smaller cone.

40.

41.

42.

The following table gives the values of mean and variance of heights and weights of the 10th standard
students of a school. < \ : . - :
Which one is more varying than other? M e‘ o ‘:-]585:%!':1 Qgg'é’:?g

Variance 72.25 cm? 28.09 Kg?

A bag contains 6 green.balls, some black and red balls. The number of black balls is twice as the
number of red balls. The probability of getting a green ball is thrice as the probability of getting a red
ball. Find (i) The number of black balls (u) The total number of balls.

Find the area of the triangle formed by joining the mid pomts of a triangle whose vertices are(p -1),
(2,1) and (0,3). :

PART-D

Answer the following. : ' g 2x8=16

43.

44.

A) Construct a triangle similar to a given triangle PQR with its sides equal to - of the correspondmg of

the triangle PQR (Scale’ factor =>1) (OR)

g)DDgaw atriangle ABC of base BC = 8cm,. LA 60° and the bisector of A meets BC at D such that
cm.

A) A school announces that for a certain competitions, the cash price will be distributed for all the

part;cnpants equally as shown below.

No. of Participants (x) 2 4 6 8 10
Amount for each participants (v) 180 90 | 60 |45 | 36

(|) Find the constant of variation. (i) Graph the above data and hence, find how much will each

participants get if the number of participants are 12. (OR)
B) Discuss the nature of solutions of the quadratic equation x2 + x — 12 = 0. ,
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Kindly send me your questions and-answet
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